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Ploss=0,0010 MW

I1=0,1859 kA
Qsum=-5,9905 Mvar
Psum=-9,3210 MW

Qloss=0,0063 Mvar
Ploss=0,0014 MW

I1=0,1859 kA
Qsum=-5,9948 Mvar
Psum=-9,3219 MW

Qloss=0,0038 Mvar
Ploss=0,0009 MW

I1=0,1859 kA
Qsum=-6,0010 Mvar
Psum=-9,3233 MW

Qloss=0,0037 Mvar
Ploss=0,0008 MW
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Qsum=-6,0090 Mvar
Psum=-9,3251 MW

Psum=-9,3260 MW
Qsum=-6,0127 Mvar

I1=0,1859 kA
Ploss=0,0005 MW

Qloss=0,0024 Mvar

Psum=9,3274 MW
Qsum=6,0189 Mvar

I1=0,1859 kA
Ploss=0,0009 MW

Qloss=0,0038 Mvar

Psum=9,3284 MW
Qsum=6,0234 Mvar

I1=0,1859 kA
Ploss=0,0010 MW

Qloss=0,0044 Mvar

Psum=9,3294 MW
Qsum=6,0280 Mvar

I1=0,1859 kA
Ploss=0,0004 MW

Qloss=0,0016 Mvar

Qloss=0,0022 Mvar
Ploss=0,0005 MW

I1=0,1859 kA
Qsum=-6,0299 Mvar
Psum=-9,3298 MW

Psum=9,3305 MW
Qsum=6,0329 Mvar

I1=0,1859 kA
Ploss=0,0002 MW

Qloss=0,0008 Mvar

Qloss=0,0000 Mvar
Ploss=0,0000 MW

I1=0,1859 kA
Qsum=6,0329 Mvar
Psum=9,3305 MW

U1l=0,4537 kV
u1=0,9862 p.u.

phiu1=60,7433 deg

U1l=4,5877 kV
u1=0,9866 p.u.

phiu1=-150,8468 deg

U1l=34,1695 kV
u1=0,9904 p.u.

phiu1=-0,5438 deg

U1l=34,1692 kV
u1=0,9904 p.u.

phiu1=-0,5433 deg

U1l=34,5000 kV
u1=1,0000 p.u.

phiu1=-0,0000 deg

Load Flow 3-phase(ABC)

Nodes

Line to Line Positive-Sequence Voltage, Magnitude [kV]

Positive-Sequence Voltage, Magnitude [p.u.]

Positive-Sequence Voltage, Angle [deg]
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Equivalente S/E Juanchito

E14810 / 0.46kV

E14810 / 4.65kV

E15255 E14810 / 34.5kV

S/E Juanchito 34.5kV
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Load Flow 3-phase(ABC)

Nodes

Line to Line Positive-Sequence Voltage, Magnitude [kV]

Positive-Sequence Voltage, Magnitude [p.u.]

Positive-Sequence Voltage, Angle [deg]
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Equivalente S/E Juanchito

E14810 / 0.46kV

E14810 / 4.65kV

E15255 E14810 / 34.5kV

S/E Juanchito 34.5kV
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Qsum=-0,0000 Mvar

I1=0,0000 kA
Ploss=0,0000 MW

Qloss=0,0000 Mvar

Psum=4,2297 MW
Qsum=2,7559 Mvar

I1=0,0853 kA
Ploss=0,0001 MW

Qloss=0,0000 Mvar

Psum=-9,0147 MW
Qsum=-5,4677 Mvar

I1=0,1782 kA
Ploss=0,0003 MW

Qloss=0,0003 Mvar

Psum=-9,0150 MW
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Qloss=0,0025 Mvar
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I1=0,1921 kA
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Qloss=0,0009 Mvar

Qloss=0,0000 Mvar
Ploss=0,0000 MW

I1=0,1921 kA
Qsum=6,0286 Mvar
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U1l=0,4537 kV
u1=0,9864 p.u.

phiu1=59,9800 deg
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u1=0,9865 p.u.

phiu1=-150,9119 deg
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phiu1=-0,5740 deg
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u1=0,9903 p.u.

phiu1=-0,5736 deg

U1l=34,5000 kV
u1=1,0000 p.u.

phiu1=-0,0000 deg

Load Flow 3-phase(ABC)

Nodes

Line to Line Positive-Sequence Voltage, Magnitude [kV]

Positive-Sequence Voltage, Magnitude [p.u.]

Positive-Sequence Voltage, Angle [deg]
 PowerFactory 2021 SP2 
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Equivalente S/E Juanchito

E14810 / 0.46kV

E14810 / 4.65kV

E15255 E14810 / 34.5kV

S/E Juanchito 34.5kV
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Qsum=-0,0000 Mvar

I1=0,0000 kA
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Qloss=0,0000 Mvar

Psum=3,7951 MW
Qsum=2,7699 Mvar

I1=0,0794 kA
Ploss=0,0001 MW

Qloss=0,0000 Mvar

Psum=-8,5801 MW
Qsum=-5,4817 Mvar

I1=0,1720 kA
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Qsum=-5,4844 Mvar
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Psum=8,5826 MW

Psum=-8,5826 MW
Qsum=-5,4920 Mvar
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Qloss=0,0027 Mvar
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Qsum=-5,4947 Mvar
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Ploss=0,0007 MW

Qloss=0,0032 Mvar

Qloss=0,0002 Mvar
Ploss=0,0000 MW

I1=0,1733 kA
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I1=0,1859 kA
Ploss=0,0009 MW
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Ploss=0,0010 MW

I1=0,1859 kA
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Qloss=0,0038 Mvar
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I1=0,1859 kA
Qsum=-6,0090 Mvar
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Qsum=6,0280 Mvar
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Ploss=0,0004 MW
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I1=0,1859 kA
Ploss=0,0002 MW

Qloss=0,0008 Mvar

Qloss=0,0000 Mvar
Ploss=0,0000 MW

I1=0,1859 kA
Qsum=6,0329 Mvar
Psum=9,3305 MW

U1l=0,4537 kV
u1=0,9862 p.u.

phiu1=60,7433 deg

U1l=4,5877 kV
u1=0,9866 p.u.

phiu1=-150,8468 deg

U1l=34,1695 kV
u1=0,9904 p.u.

phiu1=-0,5438 deg

U1l=34,1692 kV
u1=0,9904 p.u.

phiu1=-0,5433 deg

U1l=34,5000 kV
u1=1,0000 p.u.

phiu1=-0,0000 deg

Load Flow 3-phase(ABC)

Nodes

Line to Line Positive-Sequence Voltage, Magnitude [kV]

Positive-Sequence Voltage, Magnitude [p.u.]

Positive-Sequence Voltage, Angle [deg]
 PowerFactory 2021 SP2 
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Equivalente S/E Juanchito

E14810 / 0.46kV

E14810 / 4.65kV

E15255 E14810 / 34.5kV

S/E Juanchito 34.5kV

Psum=0,0000 MW
Qsum=-0,0000 Mvar

I1=0,0000 kA
Ploss=-0,0000 MW

Qloss=-0,0000 Mvar

P
su

m
=

-0
,0

00
0 

M
W

Q
su

m
=

0,
00

00
 M

va
r

I1
=

0,
00

00
 k

A
P

lo
ss

=
-0

,0
00

0 
M

W
Q

lo
ss

=
-0

,0
00

0 
M

va
r

Psum=4,7850 MW
Qsum=2,7118 Mvar

I1=0,0930 kA
Ploss=0,0000 MW

Qloss=0,0000 Mvar

Psum=4,7850 MW
Qsum=2,7118 Mvar

I1=0,6923 kA
Ploss=0,0000 MW

Qloss=0,0000 Mvar

Psum=4,7850 MW
Qsum=2,7541 Mvar

I1=0,0933 kA
Ploss=0,0000 MW

Qloss=0,0424 Mvar

Psum=0,0652 MW
Qsum=0,0370 Mvar

I1=0,0013 kA
Ploss=0,0000 MW

Qloss=0,0000 Mvar

P
su

m
=

-0
,0

65
2 

M
W

Q
su

m
=

-0
,0

37
0 

M
va

r
I1

=
0,

00
13

 k
A

P
lo

ss
=

0,
00

00
 M

W
Q

lo
ss

=
0,

00
00

 M
va

r

P
su

m
=

-0
,6

52
5 

M
W

Q
su

m
=

-0
,3

69
8 

M
va

r
I1

=
0,

01
27

 k
A

P
lo

ss
=

0,
00

00
 M

W
Q

lo
ss

=
0,

00
00

 M
va

r

P
su

m
=

-0
,0

65
2 

M
W

Q
su

m
=

-0
,0

37
0 

M
va

r
I1

=
0,

00
13

 k
A

P
lo

ss
=

0,
00

00
 M

W
Q

lo
ss

=
0,

00
00

 M
va

r

P
su

m
=

-0
,6

52
5 

M
W

Q
su

m
=

-0
,3

69
8 

M
va

r
I1

=
0,

01
27

 k
A

P
lo

ss
=

0,
00

00
 M

W
Q

lo
ss

=
0,

00
00

 M
va

r

P
su

m
=

-0
,6

52
5 

M
W

Q
su

m
=

-0
,3

69
8 

M
va

r
I1

=
0,

01
27

 k
A

P
lo

ss
=

0,
00

00
 M

W
Q

lo
ss

=
0,

00
00

 M
va

r

P
su

m
=

-0
,0

65
3 

M
W

Q
su

m
=

-0
,0

37
0 

M
va

r
I1

=
0,

00
13

 k
A

P
lo

ss
=

0,
00

00
 M

W
Q

lo
ss

=
0,

00
00

 M
va

r

Psum=-0,0000 MW
Qsum=-0,0000 Mvar

I1=0,0000 kA
Ploss=0,0000 MW

Qloss=0,0000 Mvar

Psum=4,7851 MW
Qsum=2,7542 Mvar

I1=0,0933 kA
Ploss=0,0001 MW

Qloss=0,0000 Mvar

Psum=-9,5701 MW
Qsum=-5,4660 Mvar

I1=0,1863 kA
Ploss=0,0003 MW

Qloss=0,0003 Mvar

Psum=-9,5704 MW
Qsum=-5,4663 Mvar

I1=0,1863 kA
Ploss=0,0006 MW

Qloss=0,0028 Mvar

Psum=-9,5711 MW
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I1=0,1863 kA
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Qloss=0,0041 Mvar
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I1=0,1863 kA
Qsum=5,4780 Mvar
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Psum=-9,5731 MW
Qsum=-5,4780 Mvar
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I1=0,2002 kA
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Qloss=0,0052 Mvar

Psum=10,3245 MW
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Qloss=0,0019 Mvar

Qloss=0,0026 Mvar
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I1=0,2002 kA
Qsum=-6,0368 Mvar
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Psum=10,3258 MW
Qsum=6,0403 Mvar

I1=0,2002 kA
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Qloss=0,0009 Mvar

Qloss=0,0000 Mvar
Ploss=0,0000 MW

I1=0,2002 kA
Qsum=6,0403 Mvar
Psum=10,3258 MW

U1l=0,4537 kV
u1=0,9864 p.u.

phiu1=59,0051 deg

U1l=4,5866 kV
u1=0,9864 p.u.

phiu1=-150,9949 deg
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phiu1=-0,6124 deg

U1l=34,1599 kV
u1=0,9901 p.u.

phiu1=-0,6121 deg

U1l=34,5000 kV
u1=1,0000 p.u.

phiu1=0,0000 deg

Load Flow 3-phase(ABC)

Nodes

Line to Line Positive-Sequence Voltage, Magnitude [kV]

Positive-Sequence Voltage, Magnitude [p.u.]

Positive-Sequence Voltage, Angle [deg]
 PowerFactory 2021 SP2 
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Equivalente S/E Juanchito

E14810 / 0.46kV

E14810 / 4.65kV

E15255 E14810 / 34.5kV

S/E Juanchito 34.5kV
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Qsum=0,0014 Mvar
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Psum=-0,0000 MW
Qsum=-0,0000 Mvar

I1=0,0000 kA
Ploss=0,0000 MW

Qloss=0,0000 Mvar

Psum=4,5584 MW
Qsum=2,7527 Mvar

I1=0,0900 kA
Ploss=0,0001 MW

Qloss=0,0000 Mvar

Psum=-9,3434 MW
Qsum=-5,4645 Mvar

I1=0,1829 kA
Ploss=0,0003 MW

Qloss=0,0003 Mvar

Psum=-9,3437 MW
Qsum=-5,4648 Mvar

I1=0,1829 kA
Ploss=0,0006 MW

Qloss=0,0027 Mvar

Psum=-9,3443 MW
Qsum=-5,4674 Mvar

I1=0,1829 kA
Ploss=0,0009 MW

Qloss=0,0040 Mvar

Qloss=0,0046 Mvar
Ploss=0,0010 MW

I1=0,1829 kA
Qsum=5,4760 Mvar
Psum=9,3463 MW

Psum=-9,3463 MW
Qsum=-5,4760 Mvar

I1=0,1829 kA
Ploss=0,0007 MW

Qloss=0,0031 Mvar

Psum=-9,3469 MW
Qsum=-5,4791 Mvar

I1=0,1829 kA
Ploss=0,0008 MW

Qloss=0,0037 Mvar

Qloss=0,0003 Mvar
Ploss=0,0000 MW

I1=0,1842 kA
Qsum=5,5200 Mvar
Psum=9,4130 MW

Psum=-10,0655 MW
Qsum=-5,8898 Mvar

I1=0,1968 kA
Ploss=0,0010 MW

Qloss=0,0046 Mvar

Qloss=0,0048 Mvar
Ploss=0,0011 MW

I1=0,1968 kA
Qsum=-5,9857 Mvar
Psum=-10,0871 MW

Qloss=0,0070 Mvar
Ploss=0,0016 MW

I1=0,1968 kA
Qsum=-5,9905 Mvar
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Qloss=0,0043 Mvar
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I1=0,1968 kA
Qsum=-5,9975 Mvar
Psum=-10,0898 MW

Qloss=0,0041 Mvar
Ploss=0,0009 MW

I1=0,1968 kA
Qsum=-6,0065 Mvar
Psum=-10,0918 MW

Psum=-10,0927 MW
Qsum=-6,0106 Mvar

I1=0,1968 kA
Ploss=0,0006 MW

Qloss=0,0027 Mvar
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I1=0,1968 kA
Ploss=0,0010 MW

Qloss=0,0042 Mvar

Psum=10,0954 MW
Qsum=6,0225 Mvar

I1=0,1968 kA
Ploss=0,0011 MW

Qloss=0,0050 Mvar

Psum=10,0966 MW
Qsum=6,0278 Mvar

I1=0,1968 kA
Ploss=0,0004 MW

Qloss=0,0018 Mvar

Qloss=0,0025 Mvar
Ploss=0,0006 MW

I1=0,1968 kA
Qsum=-6,0298 Mvar
Psum=-10,0970 MW

Psum=10,0978 MW
Qsum=6,0332 Mvar

I1=0,1968 kA
Ploss=0,0002 MW

Qloss=0,0009 Mvar

Qloss=0,0000 Mvar
Ploss=0,0000 MW

I1=0,1968 kA
Qsum=6,0332 Mvar
Psum=10,0978 MW

U1l=0,4538 kV
u1=0,9864 p.u.

phiu1=59,4030 deg

U1l=4,5869 kV
u1=0,9864 p.u.

phiu1=-150,9610 deg

U1l=34,1626 kV
u1=0,9902 p.u.

phiu1=-0,5968 deg

U1l=34,1623 kV
u1=0,9902 p.u.

phiu1=-0,5964 deg

U1l=34,5000 kV
u1=1,0000 p.u.

phiu1=0,0000 deg

Load Flow 3-phase(ABC)

Nodes

Line to Line Positive-Sequence Voltage, Magnitude [kV]

Positive-Sequence Voltage, Magnitude [p.u.]

Positive-Sequence Voltage, Angle [deg]
 PowerFactory 2021 SP2 
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Equivalente S/E Juanchito

E14810 / 0.46kV

E14810 / 4.65kV

E15255 E14810 / 34.5kV

S/E Juanchito 34.5kV
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Load Flow 3-phase(ABC)

Nodes
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